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Part A - Answer Any Two Full Questions (2* 20 = 40 marks) Marks o TRBT

1 (a)| What do you mean by commodity derivatives? [03] | CO1| LI

(b) | Differentiate between equity derivatives and commodity derivatives. [(07]] COT | 12
From the following data, determine for each option, Intrinsic value and time value.
Option | Stock price Exercise price Option price
Put 36 32 5.3
Call 48 50 4.1
Call 107.5 105 8.40
Put 41 45 9.7
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[10]| CO2 | L

2 (a)| Define swaps. [03] | CO2 ¢ LI

(b) | Write a note on any two commodity exchange in India. [07] | CO1| L2

Two Indian companies Indo - Plas and Indo - car want to raise finance of Rs 500 crores
each. They have been offered the following rates by a bank.
A Fixed rate Floating rate
Indo- plas 12% MIBOR+70 bps
(c) Indo-car 11% MIBOR+30 bps [10] | CO1 | L3
Indo-plas wants to raise fixed rate and Indo-car desires floating rate. A bank is willing
to arrange for swap for a fee of 10 bps (5 bps from each firm). Design an appropriate
swap showing the effect and benefit of swap to the two firms and bank. [Assume swap
benefits to be shared equally by firms)
3 (a)| What is MIBOR? [03] | CO2| L1

(b) | What is mean by option? Explain the factors affecting option price. [07]1 | CO2} L2
The current market price of a share to Rs. 60 and it is believed that at the end of one|
month the price will be either Rs. 66 or Rs. 54. The risk-free rate of interest is 15%,
annum. A call option is available with an exercise price of Rs.63 using the Binomial
option price model.
i) Determine the value of the call option
ii) Determine the hedge ratio

Part B - Compulsory (01*10=10 marks)

From the following data, calculate the values of call and put options using Black and
Scholes model.

4 |Current price of the share = Rs.486

Exercise price = Rs. 500

Time to expiration = 65 days

Standard deviation (Volatility) o = 0.54

Continuously compounded Rate of interest = 9% p.a

Dividend expected = Nil

(©) [10] [ CO1| 13
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